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My Turn 
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Our Turn 
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Your Turn 
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I rolled a three. One, 

two, three yellow cubes.

We need one more 

yellow cube for each 

blue cube to have a 

partner.

I rolled a four. One, 

two, three, four blue 

cubes.
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Draw lines to show the partners. How many more boys or girls are 

needed so each has a partner?

Can you write an equation to show this?

1) There are three boys and four girls. 

3 + = 4
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Addressing a misconception

How many more girls are needed so that every boy 

has a partner?

What has this child done wrong?

Can you correct them?

4 + 6 = 10
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Draw lines to show the partners. How many pupils 

don’t have a partner?

Can you write an equation to show this?

1) There are five boys and two girls.
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Addressing a misconception

How many more girls are needed so that every boy 

has a partner?

What has this child done wrong?

Can you correct them?

4 + 6 = 10
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